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5 2 2 3
IfA-B=C, where A =L (J and B ={3 _J, then find sum of all element of matrix 'c’.
(A) -2 (B) -1 (C) 0 (D) 3
16 -10 |
If 2 o |F B = Iz,then B is equal to
{—16 10} [—15 10 {—14 8}
(A) 6 _8 (B) 6 7 (C) 4 _t (D) none of these
" %D e” _sinx
3. If the trace of matrix A = | cos(x”) x°-x+3 m|x||is zero, then x is equal to
=
! 0 tan " X X—7 )
(A) - 2 0r 3 (B -3 o0or-2 (C)-3o0r2 (D) 2 or 3

4, T.(A) of a 3 x 3 matrix A = (a;,) is defined by the relation T (A) = a,, + a,, + a3 (i.e. T(A) is sum
of the main diagonal elements). Which are of the following statement cannot always hold?
(A) T. (kA) = kT (A) (k is a scalar) (B) T(A+B)=T.(A) + T(B)
(C) T(I3) =3 (D) T(A%) = (T.(A))?

5. Identify the incorrect statement in respect of two square matrices A and B conformable for sum
and product,

(A) t. (A + B) = t(A) + t(B)
(C) t.(AT) = t,(A)

(B) t(aA) = at(A), a eR
(D*) t (AB) # t(BA)

8¢ B B 2% 3 5
6. let A=| 3 vy 9], B=|2 2y 6 | betwo matrices and if Tr. (A) = Tr. (B), then the
L4 5 ;3/} L. = 27Z-3)
value of (x + vy + z) is equal to
(A) O (B) 1 (C) 2 (D) 3

[Note : Tr.(P) denotes trace of matrix P.]

o’ 6 8 20 3 g
7. For o,B,vyeR, let A=|3 B~ 9| andB=| 2 2B 6 |.If trace A = trace B, then
5 }!2 ] 4 2y-3

the value of (o™ + Pt + y71) is equal to

(A) 4 (B) 3 (C) 2 (D) 1
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8. For O = P let B = [b,] be a square matrix of order 2 such that
cosO. =
|7 .
. —+0
. (iﬂ ] o
Sm{ ——-9 |, 1<
k_ 2

The trace of matrix B> is equal to
(A) - 2 (B) -1 (C) 1 (D) 2
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2 0 1] then find the value of x + y + a.

3 3 2 3
10. If X = and X - |, =lo 1| then find the value a is-
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1. If A= [_al I})} where a and b are real number. If A2 is a null matrix then the product ab equals
(A) O (B) 1 (C)-1 (D) & 1
o 0 4 0] o |
2. If A = Lo and B = B then number of distinct values of o for which A? = B
equals
(A) O (B) 1 (C) 2 (D) 3
D Let A, B and C be three matrices of order 2 x 3, 3 x 1 and 2 x 3 respectively.
Which one of the following statements is correct for the matrix F= (C+ A)B?
(A) The order of Fis 3 x 3 and the number of entries is 9.
(B) The order of Fis 2 x 1 and the number of entries is 2.
(C) Matrix F is not defined.
(D) Order of Fis 2 x 3 and the number of entries is 6.
1 0 0) (1 (0
4. let A=|2 1 0. If C, and C, are column matrices such that AC, = | 0| and AC, = | |
S 2 1, Y, 0,
then C, + C, isequalto
r-l‘\ (1) r’_m (1)
(A) | -1 (B) | -1 (C) | 1 (D) | 1
x_l_/’ \0,»* kOJ \_lz
3 4 1
5. If a, b, c are 3 real numbers satisfying the matrix equation, [abc]|3 2 3| =[301],
2 0 2
then (2a + b - ¢) equals
(A) -3 (B) 2 (C) 4 (D) -1
4sec’® 1 0 oot2 0 5 01
6. Let A = 0 3tan“0 l|land B=| 1 3cosec”® 1|, then minimum value of tr(AB) is
0 | | I 1 4
(A) 19 (B) 25 (C) 29 (D) 32
1 0 [ 0
1 .
7. Let A= 1| If A" = (SU ljf then value of n is
N2 ) )
(A) 10 (B) 50 (C) 100 (D) 200
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8. A square matrix P of order 3 satisfies P2 =1 - P, where I is an identity matrix of order 3, then
PS is equal to
(A) 5I - 6P (B) 41 - 7P (C) 5I - 7P (D) 51 - 8P

Integer Type

= =

m
9. Let A=[mn],,,, B= " and C = [25],,, be three matrices such that AB = C, where m
S 5 |
and n are integers, then the number of ordered pairs of (m, n) are
10. A square matrix M of order 3 satisfies M2 = I-M, where I is an identity matrix of order 3.

If M" =51 -8M, then n is equal to
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cos® —smbo .
1. If A= Gn0  cosO |’ then AA' equals-
0520 —sin 26 cos?0 sin?0 [ 0 0 0
(A) sin268  cos 20 (B) _5i1130 Cﬂﬁzﬂ_ (C) 0 1 (D) 0 0
S
2 3 4 5 1
2. IfA =], 4 5| B = , then (AB)' equals-
15 22 16 23 2r 23 ]ﬁ]
(A) 23 o (B) 2k B (C) 16 30 (D) 31 20
a b
3. IfA = | then [A +A'"| equals -
(A) 4(a? - b?) (B) 2(a? - b?) (C) a¢ - b? (D) 4 ab
4. If A is symmetric matrix and B is a skew- symmetric matrix, then for n € N, false statement is -
(A) A" is symmetric
(B) A" is symmetric only when n is even
(C) B" is skew symmetric when n is odd
(D) B" is symmetric when n is even
. @
5. [fM= 5 3 and M2- .M -1, = 0, then A equals -
(A) -2 (B) 2 (C) -4 (D) 4
6. If A is any skew- symmetric matrix of odd orders, then |A| equals -
(A) -1 (B) O (C) 1 (D) None
3 -4
7. If A = Lo then for every positive integer n, A" is equal to -
|+ 2n 4n l+2n —4n 1-2n  4n
(A) n 1+ 2n (B) 1 I'=Zn (C) 1 1+ 2n (D) None of these
0 1
8. IfA=|_, ,| and (al, + bA)? = A, then -

(Aya=b=,2 (Bya=b=1//5 (C)a=b=_3 (D)a=b=1/y3
Multiple Correct

9. If A is idempotent and A + B = |, then which of the following is true?
(A) B is idempotent (B) AB =20 (C)BA=0 (D) none of these

10. Let A be a square matrix. Then which of the following is a symmetric matrix -
(A) A + A’ (B) AA (C) A'A (D) A - A’
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B | 4 1
1. IfA=|_, ,JandB = |, ,|then which statement is true?’
(A) AAT = | (B) BBT = | (C) AB # BA (D) (AB)T = |
'S
2 ifa=1]> " % then adj A is equal to -
2 6 7
[ —24 4 8 | | -24 4 8 ' —-24 4 8
Ayt 2 ey ey =27 b Dy None of these
& I =10 30 -2 -10 30 -2 -10 |
1 2 3]
3. IfA=|° 7 !thenadj(adjA) =
?? 1 EF
(<18 36 =54 ] (18 36 54 1 2 3]
(ay | ¢ =% 18 gy~ |9 2% 1B deyqg |4 0 (D) None of these
| -54 18 -36| 54 18 36 13 1 2
(-1 2 2]
4. Ifk| 2 ~1 2 |isan orthogonal matrix then k is equal to -
g 2 =1
(A) 1 ~ (B) 1/2 (C) 1/3 (D) None of these
D If Ais a square matrix of order n, then the value of |adj A| is-
(A) |A]P (B) [AI (C) JA]Z* (D) |A["*?
6. (adj AT) - (adj A)T equals-
(A) 2 |A] (B) 2 |A| I (C) zero matrix (D) Unit matrix
4 2
7. If A=, .|, then adj (adj A) is equal to-
3 =2 4 2 4 2
(A) 3 4 (B) 3 3 (C) 6 3 3 (D) None of these
8. Which of the following is a nilpotent matrix
1 0 cost -—sin® 0 0 1 1]
A [0 9] (B) |50% worg| © |78 0 |1 1]

Integer Type

= Fes

1 2 3
9. IfA=" % 1| then find the value of » where A (adj A) = -11,
2 1 2
1 sind 1 |
10. Let A= —SI?U 1 ; Si[l‘!ﬂ where 0 <0 < 2n, if |A| €[a, b] then find a + b.
= — SN
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1 0O
1. If A = Lo then A™" is equal to-
[ O | () 1 0
(A) . (B) W (C) o B (D) None of these
cos —smno o
2, If A =[sin€1 Cosﬁ] A-1is given by
(A) -A (B) AT (C) -AT (D) A
3 If an idempotent matrix is also skew symmetric then it must be
(A) an involutary matrix (B) an identity matrix
(C) an orthogonal matrix (D) a null matrix.
01 2 1/2 -1/2 1/2
4, IfA=(1 2 3|, Alt=|-4 3 ¢ |, then
3 a 1] 2 =32 12
| ] ]
(AJa=1,c=-1 (B)a=2,c=—§ (C) a==1,0=1 (D)a_E'C=E

5. If A and B are two square matrices such that B = - A"1BA, then (A + B)? =

(A) O (B) A? + B? (C)A2+2AB + B2 (D)A+B
A-1 A A+l
6. Number of real values of A for which the matrix A =|. - ,f‘l 3 has no inverse
A+3 A2 k+7_
(A) O (B) 1 (C) 2 (D) infinite
B 4x 41 5-2% he | e |
/. Let A = _2—2}; };—2_'T e largest entry of A~ as X — ¢ |S
A .l B 2 C : D :
(A) - (B) - (C) = (D) -
s -
2 O IR a
8. If i | A= , then the value of — is equal to
5 l _—El 2_ X
- 4.
(A) | (B) 2 (C) 4 (D) |
2 4

Integer Type

9. Let A be a 3 x 3 matrix whose entries are all integers. If A is invertible and all entries of Al are
integers then find sum of all possible values of det.A

10. Number of skew-symmetric matrices of order 3 whose elements are 0,0, 0, 1, -1, 2, -2, 3, -3 is
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